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CE306 ROl it
Spl. 2020
' ; IRRIGATION ENGINEERING
Fryife am . a5 [SAfraw 31w : 70
Time allowed : Three Hours) [Maximum Marks : 70

T (i) FIH I IFATE 8, 99 H @ o aw I AR )

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii) T 97 F G 1T B FHER 0 G 5T For9 |
“Solve all parts of a question consecutively together.
(iii) % 37 F1 79 8 & JRE] Fford |
Start each question on fresh page.
(iv) &I TS5 7 37 517 1 1R 7 370 srgame & ar=r 8

Only English version is valid in case of difference in both the languages.

L (1) I8 DIRR /s 7, 5ot 6 780 See1 A diex §, 49 difwe B AT, F o=

T BT 8 -
1.98 B 8.64 B
& A="5 (b) A=—pH—
5.68 B 8.64 D
() A=—FH— (d aA="F

The relation between duty D in hectares/cumec, depth of water A in metres and

base period B in days is given by

1.98 B 8.64 B
(@ A="F{H— ®) A="FH "

5.68 B 8.64 D
() A="pH— @ A=—%

(1 0f 12) ' P.T.O.
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= 4 9 smfiere avfard 7= 2

(a) At wehe fopem &1 awtardt 7=
(b) ©TEHA AWHT T
(c) Wiaw 350 forem autardt o=

(d) el TR 1 a7

Which of the following is a non-recording rain gauge ?
(a) Tipping bucket type rain gauge

(b) Simon’s rain gauge

(¢) Steven’s weighing type rain gauge

(d F loéting type rain gauge

et I T wenfia s =t

(a) W% ™ (b) USH =
(c) T HW (d) &2 TIHEW

A rain gauge should preferably be fixed

(a) near the building (b) under the tree

(c) inan open space (d) inaclosed space

T9aTe 4 gfg Bl 2

@ IR EEy (b)) svaTE Aty

(c) FAH IOTEA A IGH Y (d) IWE gt

The Runoff increases with

(a) increase in intensity of rain

(b) increase in infiltration capacity
(¢) increase in permeability of soil

(d) All of the above
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(5) w3 Ao # fema St 2

(a) o1 SETE & o ! (b)
(c) T (d)
A current meter is used to measure the

(a) velocity of flow of water (b)
(¢) Discharge (d)

(6) TH TEIELT S I8 Brerl & S
(a) Ueh I2ewd & ford arfivenfedra fepam ST wemg we & 31freh Igewa o & a2 |
(b)' §gd 9 Igevdl % ford T ud Fmtor fema o |

o1 JaTE <hl MRS I
T ¥ g TE

depth of flow of water

None of the above

(¢) (a)Wd (b)THI
(d) IRIGH A FE T

A multipurpose reservoir is the one which is

(a) designed for one purpose but serves more than one purpose.

(b) planned and constructed to serve various purposes.

(¢) Both (a)and (b)
(d) None of the above

(7) ﬂﬁﬁﬂﬁg@gﬁ'ﬂﬂﬁﬁ'ﬁ%'

(a) 9l qEE | (b)

(c) 1Y 1 W HT 9R (d)

LU RCIC]

ERCIEERAC]

The major resisting force in a gravity dam is

' (a) water pressure (b)

(¢) self-weight of dam (d)

(8) s i gri=res MwTset Bt B

(a) HATIATHR (b)
(c) wHaTg Frge (d)
The elementary profile of a dam is

(a) A rectangle (b)
(¢) An equilateral triangle (d)

wave pressure

uplift pressure

i
LECALREEE|

A trapezoidal :
A right angled triangle

B0,
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(9) T Sy T g A i & |y

(a) WENEAE |

(b) Tadhetar <t &1 TrITET B R |

(c) Wi T e i ATavEHal g 2 |
(d) 9 HI A hl EITAHAT B 2 |

As compared to gravity dams, earthen dams
(a) are costlier

(b) are less susceptible to failure

(c) require sound rock foundations

(d) require less skilled labour

(10) 7 & S 91 Ieerg-art gt & a7y & fo oe8 9 Sugw e ?

(a) 3t Ieerar-mmt (b) Y IeTa-al
(c) Tvd IA9eA It -ARt (d) TR Ieera -
Which of the following spillways is least suitable for an earthen dam ?

(a) Ogee spillway (b) Chute spillway
(c) Side channel spillway (d) Shaft épillway

(11) SreRemaaT SRR %1 S@ gE&d 74 6 9 & erad et rar & Hife

(2) TR 1R ) HH TS H HTETYIHAT B 2 |
(b) 3EE =S e s WH B # |

(c) TEFHTECTEAR |
(d) I9es At

Generally the weir is aligned at right angles to the direction of the main river
current because

(a) it ensures less length of the weir

(b) it gives better discharging capacity

(¢) itis economical

(d) All of the above
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(12) Fntem dram &g STt 2

(a) PR 378 % =T

(b) SRR e % TR 3 3EH HeA TAE T

(c) o 3181 o FHMIRR 3R $8eh HITATE T

(@) WM IAFH T
A divide wall is provided

(a) atright angle to the axis of weir.
(b) parallel to the axis of weir and upstream of it.
(c) parallel to the axis of weir and downstream of it.

(d) at an inclination to the axis of weir.

(13) e sl 591 9 2

(a) 3fid Foramees o wlcseme e 9 W

(b) ¥ forammes % SryETE T 9 W

(c) i foramaes % wftsraTg T8t a6t W
(d) ¥ frames & STgyETE T8 dd W

Silt excluders are constructed on the

(a) river bed upstream of head regulator
(b) river bed downstream of head regulator
(c) canal bed upstream of head regulator

(d) canal bed downstream of head regulator

(14) St 3 frgia % FTTETETE P IUR TEH H Tt ot I gt 2

(a) e et 6 aelt & (b) e STl % XA |
) TRFFURE TN (d) IRIG A A HE T

According to Lacey’s theory, the silt supporting eddies are generated from
(a) * bottom of channel only
(b) sides of channel only
(c) bottom as well as sides of channel
(d) None of the above
| P.T.O.
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(15) U ferpeieh Ta ) s ST

(a) wiewas <t fem & (b)  3rvaTE Y fewm
() TFm % wraaa (d) R 3 Famm=R

A repelling groyne is aligned

(a) pointing upstream (b)  pointing downstream
(¢) perpendicular to bank (d) parallel to bank

(16) ¥fHr =1 <1 o1 wfty gt 3
(a) 9 TURf T foig Wwgw S @ |
(b) T T H9ATE HHIH B THT A |
(c) %&ﬁmﬁzﬁ%q@éﬁﬁqﬁamﬁ .
(d) I7RF | A g T
A land is known as waterlogged
(a) when the permanent wilting point is reached
(b)  when gravity drainage has ceased

(c) capillary fringe reaches the root zone of plants

(d) None of the above

(17) ﬁnﬁﬁﬁqmmwmmé?
(a) TEE famE B P w  (b) TE % U1 ETF G B HH 0
(c) =9l o1 1 e el s () seerTa s e v

Which of the following is a remedial measure for watérlogging ?
(a) contro]].in.g seepage from the canals

(b) by lowering the F.S.L. of the canals

(¢)  quick disposal of rain water

(d) installation of lift irrigation systems
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(18) wael i gepf arfrgfyg % Tt Y e s HEemd 2

(a) Py (b) e
(c) 3l (d) <5FH ETy
What is total depth of water, for complete growth of crop called ?
(a) Triangle (b) Delta
(¢) Duty . (d) Rotation period
(19) Tora yopr 1 s fafys ) e R R e smar 2 7
(a) ToewmE fger (b) e fE=m
(c) U fo=mg (d) < wATET
What type of irrigation method is also called as trickle irrigation ?
(a) Sprinkler irrigation (b) Furrow irrigation
(c) Drip irrigation (d) Check flooding
(20) Tora g <t fefad faftr & ot 1 sgem B @ 2
(a) <SR FeAfen (b) = FEfET
(c) Hesfafy (d) h! Fafen
In which type of irrigation method wasteful use of water happens ?
(a) Wild flooding (b) Check flooding
(¢) Furrow method (d) Free flooding
(21) Torm aee i fias fafir & yfty =1 féifea 0 & form hm avf swg ot 2 2
(a) fogwm fafy (b) ewa fafty |
c) Fpsfafy (d) € faws fafy
What kind of irrigation method uses artificial rain to irrigate the land ?
(a) Sprinkler method (b) Drip method
(¢) Furrow method (d) Border irrigation method

1035
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(22) B! g = form g 6t fifamd wgfa weardt 2 2

(23)

(24)

(a) 3gaTE =g (b) 7T =g

(c) g o= (d) ag fq=md
Irrigation from wells is what type of irrigation system ?
(a) Lift irrigation (b) Tank irrigation
(c) Direct irrigation (d) Flow irrigation

& T w1 & faefid 7@ S S gate T & S @ i afet e
e -

(a) ST AR (b) IHIEH T8

(c) TR - (d) emE TR

A canal which when fully developed yields enough revenue to cover up its
running cost is known as

(a) Protective canal ' (b) Productive canal

(c) Permanent canal | (d) Inundation canal

8 T § g o Fe o #§ e TS SwE feaar? ¢

(a) TORGUEEEEAGRG (b)) FeAcEe Ud AEEA

(c) AT TR T T I (d) T HEHA T ey

Which of the following cross drainage works carry drainage over the canal ?
(a) Aqueduct and syphon aqueduct

(b) Super passage and syphon

(¢) Level crossing and inlets outlets

~ (d) Canal syphon and aqueduct

(25)

Teh AT ST SehH T

(a) WTEHA (b) g

(c) ¥ouwE fabmE (d) HTEHA SrEg
A super paslsage is the reverse of

(a) Syphon (b) Aqueduct

(¢) Inlets and outlets (d) Syphon aqueduct
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(26) Tora wefia gt g T8 & U # dada s & o s wft-ft 9@ F ot

oft foren e s 8 2
(a) &A@ (b) TE AW
(c) wigge (d) THAS I

The drainage water is sometimes allowed to join the canal water to augment
canal supplies through a hydraulic structure is called as
(a) canal outlet (b) canal inlet

(c) module (d) level crossing

(27) & feaTé TE qun ATen SF 1 YR ae e e WSS §9E & adn e

A = w1e PR W gl 39 ¥ T fer T W IR e w8 -
(a) FedeEH (b) erdg
(c) §Hae IR (d) TEREEHEA

The crossing arrangement preferably made at the junction of a huge canal and a
river stream carrying a short lived high flood discharge at almost equal bed

levels is a

(a) Super passage (b) Aqueduct
(¢) Level crossing (d) Canal syphon

(28) | e & Fmio & & woferl & wAT=R T § Heg FEHA § 7

(a) Toeid =@ (b) TG FEYH

(c) ¥ Higl (d) Towrm der

By constructing which structure we can help the fish in their migration ?
(a) Scouring sluices (b) Silt excluder

(c) Fish ladder (d) Divide wall

P.T.O.
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(29) = T I T H YA §E 7T7€ 1 Feprer w1 AT R 7

(a) TIE ENUH (b) TG THFR

(c) R (d) T dem

Which device is used for silt removal after it enters the canal ?
(a) Silt excluder (b) Silt ejector .

(¢) Waeir (d) Divide wall

(30) =Ty vd offt ¥ g&T =R 7

(a) WUEH HTTE @ HREENY (b) g e
(c) Towfor wmft : (d) g Rufy

What is the main difference between a dam and weir "
(a) Height and duration of storage

(b) Capacity of water

(c) Material used for construétion

(d) Location of the structure

2. 4= v
Explain the following :
(i) foree fiemg
Lift Irrigation
(i) g
Duty
(iii) 9TE
Runoff
(iv) F3A % T FaeH %
Cone of depre'séions in wells
(v) ¥
Spur

1035
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(i)
4. ()
(ii) -
5. (i)
(i1)
6. (i)
(i1)

%= _ (11 of 12) 1035
FYTE ! T A I HT fART |
Write down factors affecting run-off,

S =5 ! Gfs guEmen |

Explain hydrological cycle with sketch. (5+5)

el 914l o ket 819 % o fafe |
Write the causes of failure of Earthen dams.

Tecdl S14] ! faheTdT o R & =79 & I THSIT |

Explain reasons of failures of gravity dams and measures of their prevention. (5+5)

HIE! auUT ot o firee frgidi w1 wwsmey |
Explain the Kennedy’s and Lacey’s silt theory.

¢t wivreqor 1l & Fev fafgu |

Write down the objectives of River Training works. (5+5)

TE ] AT % @y g =i ferfag |
Write advantages and disadvantages of canal lining.

2Rl & TG B & HR fAfaT |

Write the causes of failure of weirs. (5+5)

7. ICTEH < I S $EH! U % 39 % w A Rafaw | e gurhomm s 7

Explain causes and preventive measures of water logging. What are its ill-effects, ? (10)

8. @

G YA I AR 1 e ey |

- Explain super passage and level crossing with the help of sketch.

(i)

IS BS-TH H Y FT WHGA B ? IGHT WG S TeIB W HT 1 A7 |

What do you understand by ‘Diversion Head Works’ ? Explain function of each

component with layout plan. (5+5)
' P.T.O.
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9. (i) Tt vor s == #t gfag = afuzs gz Hifvm |
List out different types of strainers and explain with sketch.

(i) i‘lﬁﬁs‘%gﬂwéaﬂml

Write down the advantages and disadvantages of well irrigation.

1035

(5+5) *’



